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MASENO UNIVERSITY
UNIVERSITY EXAMINATIONS 2016/2017

FOURTH YEAR FIRST SEMESTER EXAMINATION FOR DEGREE
OF BACHELOR OF BUSINESS ADMINISTRATION WITH
INFORMATION TECHNOLOGY

MAIN CAMPUS

ABA 402: QUANTITATIVE METHODS I

Date: 28" November, 2016 Time: 3,30 - 6.30pm

INSTRUCTIONS:
o Answer Question ONRE (Compulsory) and any other TWO.

MASENO UNIVERSITY



QUESTION ONE (38 MARKS)

a} Consider the information on a trangporfation schedule below:
Sources are: Ap=60. A=35, Ay=40, Requirements are: By=22, By=45, Bs=20,
Be=18,B5=30 the unit cost of Iransportations are: Ci1=4,Cr2=1,C15=3,C1=4,C, 54,
C11‘-“-‘2,C11=3,Cza-‘-lﬂzqﬂ.c:s*lﬂa:*‘-3,(331"‘-5,(33?2,C34=4,C35=4.
Required:

The solution using Vogel’s Approximations Methed {8 marks)

b) Briefly describe the variations of the assignment problems,

(8 marks)

) O’Hagan Bookworm Booksellers buys books from two publishers, DuffinHouse offers a
package of 5 mysteries and 5 romans novels for Kshs, 50,000, and Gorman Press offers a
package of 5 mysteries and 10 romance novels for Kshs. 156, 000. O’Hagan wants to buy
at least 2,500 mysteries and 3,500 romance novels, and he has promised Garman {who
has influence on Senate Textbook Committee} that a1 least 25% of the total number of
packages he purchases will come from Gormag Press.

Required;
i.  Using graphical method, how many packages should O'Hagan order from each
publisher in order to minimize his cost and satisfy Gorman? (4 marks)
ii.  What will the novels cost? {4 marks)
d4) Highlight the main objectives of Network Analysis. {6 marks)
QUESTION TWO (20 MARKS)

average rate of 6 per hour. This prodaces oceasional stack-ups at the airport which can be
dangerous and costly.

Fequired:

Under these circumstances, how much time wil] a pilot expect fo spend circulating the field
Wwaiting to land?



QUESTION THREE (20 MARKS)

Infurmation of 8 wetsportation schedule is a5 below: Sources ars: A=), Ax=50. Aq=0,
Requirements are: B,=52, By~8, By=80, the wail cost of transpoTtitions e
Ci=30,C12=27,C15=19, Cor=18.Cp=1 T5=25, Cay=20 Cn=21,Cx=09

Required: _
i Determine the optimal solution using Northwest sornes mie (16 marks)
A, Determine the optimal sobition wsing Least Cost Method, {10 murk=)
QUESTION FOUR (20 MARKS)

A Company wishes to allocaie its monthly promotional budget of Kshs, 1,000 among theee
advertising media, 1.¢ Doordarshan, Zee TV and CNN, The number of prospective buyer reached
iy a stngle adveriisament in each of the three media is 50,000, 100,000 and 75,000 while the Glst
pex advertisement is Kshs. &00 Kshs. 1006 and Kshs. 750 respoctively. The Company Board has

decided that it will not release more than 10, 20, snd 10 advertisaments on Deordarshan, Zee TV
and CNN respectively.

Required:

What should be ihe wdvertisement plan if the Company wamts to maximize the iotal andience
Coverage? {20 marks)
QUESTION FIVE (20 MARKS)

Jobl  Job2 Job3 Jobd  Joba ]
Person 1 27 23 722 24 27
Parson 2 28 27 21 24 24
ferson 3 28 26 24 28 ik
| Person 4 27 23 2L 24 74
Person 5 25 W0 N 26 24
| Pesgon 6 26 21 21 24 27

— e ]
Reguived;

Determine the optimal arsigrenent plam to winimize the eost, (20 marks)



